
12

11

8

10

9

42
3

2

1

7
6

5

Parts List: OT300-500*2: Gas Train and Burner Assembly

# DESCRIPTION
1 Gas Pressure Switch (20008)
2 Gas Control Flange (W/ gasket) 20007)

3 Gas Control (NAT GAS_0-2,000 Ft Alt) 
(20006)

3 Gas Control (LP GAS_0-2,000 Ft Alt) (20013)
4 3/4" NPT x 2" Pipe Nipple, Black Iron

4 Pipe Nipple W/ 0.391" Orifice (LP GAS 
Models) (19880)

5 Blower Assembly Kit Nat (25566)
5 Blower Assembly Kit Nat (25568)
6 Gasket (blower to transition tube)
7 Transition Tube (17057)
8 Gasket (transition tube to burner) (18212)
9 Burner (19848)

10 Gasket (burner to mounting flange) 
(18214)

11 Sight Plug (21817)
12 Mounting Flange (17053)

# DESCRIPTION
16 3/4" NPT 90deg Elbow, Black Iron
17 3/4" NPT x 1.375" Pipe Nipple, Black Iron
18 3/4" x 3/4" x 1/4" NPT Reducing Tee, Black Iron
19 1/4" NPT x 1.5" Pipe Nipple, Black Iron
20 3/4" NPT x 5" Pipe Nipple, Black Iron

21 3/4" NPT x 1.5" NPT Reducing Coupling, Black 
Iron

22 1/4" Lock Washer, Zinc
23 Screw, Socket Head, #10-32 x 0.75in
24 Nut, Nylon Insert Locknut #10-32
25 1/4"-20 Hex Nut, Zinc
26 Black PVC Cap
27 Gas pressure switch harness
28 Gas Pressure Switch Label

https://www.bockwaterheaters.com/gas-pressure-switch.html
https://www.bockwaterheaters.com/gas-pressure-switch.html
https://www.bockwaterheaters.com/gas-control-flange-kit.html
https://www.bockwaterheaters.com/gas-control-flange-kit.html
https://www.bockwaterheaters.com/blower-assembly-kit-ot300-500n.html
https://www.bockwaterheaters.com/blower-assembly-kit-ot300-500n.html
https://www.bockwaterheaters.com/blower-assembly-kit-ot300-500lp.html
https://www.bockwaterheaters.com/transition-tube-ot200-500.html
https://www.bockwaterheaters.com/transition-tube-ot200-500.html
https://www.bockwaterheaters.com/gasket-transition-tube-to-burner-ot200-500.html
https://www.bockwaterheaters.com/gasket-transition-tube-to-burner-ot200-500.html
https://www.bockwaterheaters.com/gasket-burner-to-mounting-flange-ot200-500.html
https://www.bockwaterheaters.com/gasket-burner-to-mounting-flange-ot200-500.html
https://www.bockwaterheaters.com/sight-port-3-4.html
https://www.bockwaterheaters.com/sight-port-3-4.html
https://www.bockwaterheaters.com/gas-control-nat-gas-0-2-000-ft-alt.html
https://www.bockwaterheaters.com/gas-control-nat-gas-0-2-000-ft-alt.html
https://www.bockwaterheaters.com/gas-control-lp-gas-0-2-000-ft-alt.html
https://www.bockwaterheaters.com/pipe-nipple-w-0-391-orifice-lp-gas-models.html
https://www.bockwaterheaters.com/pipe-nipple-w-0-391-orifice-lp-gas-models.html
https://www.bockwaterheaters.com/burner-ot300-500-gen2.html
https://www.bockwaterheaters.com/burner-ot300-500-gen2.html
https://www.bockwaterheaters.com/mounting-flange.html
https://www.bockwaterheaters.com/mounting-flange.html

	Sheet2
	Drawing View5


